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True or False EB&5—%

<Lesson ITF EFERAZ7 Y 7} >

(D Some people see a rabbit facing to the right in the illustration.

@ The garden at Ryoanji inclines towards the south-west corner.

@ The Fick Illusion causes the vertical line to appear longer than the horizontal line,
even though they are the same length.

@ In one train station, people are seldom unable to find an elevator located in a blind
spot.

(3 An optical illusion cannot be used at an intersection with no traffic lights.

(6 A crosswalk painted to appear three-dimensional will lose its effectiveness in

preventing accidents.
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